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Why 0and 1=True And – 1 And 2 Are False In A – 1,0,1,2 
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Souravlal Singha 
 

Abstract: 
why 0 and 1 are true will be explained 

Introduction:we will try to give a new explanation 

Main body:Suppose static energy of body a is 90 calories. Now 

090=0+90 

If we take 0as true then 

It becomes true +90=true 90 

Again 1*90=90 

Here 1=true (suppose) 

Then true 90=90 

So we can see 0 and 1 are true 

But in no way – 1 and 2can be proven as true. 

So they are false. – 1=lesser false and +2=greater false 
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